TAIWANESE JOURNAL OF MATHEMATICS Vol. 9, No. 2, pp. 215-236, June 2005 This paper is available online at http://www.math.nthu.edu.tw/tjm/

ON THE HOMOGENIZATION OF SECOND ORDER DIFFERENTIAL EQUATIONS

Jiann-Sheng Jiang, Kung-Hwang Kuo and Chi-Kun Lin

Abstract. We discuss the homogenization process of second order differential equations involving highly oscillating coefficients in the time and space variables. It generate memory or nonlocal effect. For initial value problems, the memory kernels are described by Volterra integral equations; and for boundary value problems, they are characterized by Fredholm integral equations. When the equation is translation (in time or in space) invariant, the memory or nonlocal kernel can be represented explicitly in terms of the Young's measure.

1. Introduction

Homogenization is concerned with the understanding of oscillations in differential equations. In more intuitive terms, it seeks to understand the equations governing macroscopic quantities in presence of microscopic variations of physical quantities. In order to understand this kind of problems, Luc Tartar started in the 1980's with a simplified model where such memory or nonlocal effect appears [22-24]. The basic fact is that if the microscopic constitutive law has highly oscillating coefficients, the macroscopic constitutive law will present an integral or memory term, with a kernel depending on the way those oscillations are produced. This explains the mathematical meaning for the absorption and spontaneous emission rules in quantum mechanics, that effective equations often have extra nonlocal terms in space and time.

In linear homogenization theory it is possible for a differential equation with an integral term (a memory or nonlocal effect) to arise from an equation with pure differential structure: viscoelastic behavior of composite material is an example

Received March 8, 2004; accepted January 26, 2005.

Communicated by Chiun-Chuan Chen.

2000 Mathematics Subject Classification: 35B27, 35B35.

Key words and phrases: Homogenization, Weak limit, Green's function, Volterra and Fredholm integral equations, Young's measure, Kinetic formulation, Dunford-Taylor integral, Eigenfunction expansion. Dedicated to Professor Hwai-Chiuan Wang with our best wishes in his retirement.

(Enrique Sanchez-Palencia [20]). The transport and dispersion processes in heterogeneous media and the miscible displacement of fluids in a porous medium are interesting examples (Amirat-Hamdache-Ziani [4], Koch et al. [13, 14]). The memory or nonlocal effect can be induced by oscillations in time and/or spatial properties. Indeed, the nonlocal theory provides a convenient setting in which to study transport in macroscopically heterogeneous system [13, 14].

In order to understand the main reasons behind the strange rules of absorption and emission used by physicists, Tartar looked at the following differential equation

$$(1.1) \partial_t u^{\epsilon} + a^{\epsilon}(x)u^{\epsilon} = f(x,t) \text{in} (0,T) \times \Omega, u^{\epsilon}|_{t=0} = u_0 \text{in} \Omega.$$

Here Ω is an open set of \mathbf{R}^n , $\{a^{\epsilon}\}$ is a sequence of measurable functions bounded in $L^{\infty}(\Omega)$. The sequence $\{a^{\epsilon}\}$ takes values between α and β and converges to a^0 in $L^{\infty}(\Omega)$ weak *. The Young's measure of a^{ϵ} contains all the information need. He showed that the limiting equation would have a convolution term:

$$(1.2) \;\; \partial_t u^0 + a^0(x) u^0 - \int_0^t K(x,t-s) u^0(x,s) ds = f(x,t) \,, \quad u^0(x,0) = u_0(x) \,.$$

The reason that Eq. (1.2) is natural is that the operator $\partial_t + a^\epsilon$ is linear and commutes with translation in t, and a theorem of Laurent Schwartz says that every operator which commutes with translation is a convolution operator. Following Tartar's approach [22, 23], the boundary value problem of the general second order differential equation with time-independent coefficients is discussed thoroughly by N. Antonic [7]. The memory kernel is described by using the eigenfunction expansion and a representation theorem for Nevanlinna functions. Using a factorization of the second-order operator and the Dunford-Taylor integral representation theorem, Y. Amirat, K. Hamdache and A. Ziani [3, 4] derived a nonlocal limiting equation with source terms. For the Γ -convergence approach to the memory effect, we shall refer to M. Mascarenhas [17] (see also De Giorgi [8] for the original motivation). The 2×2 Dirac system was studied in [10]. The authors also investigated the 3×3 systems in [12]. For an introduction to the progress of some current research and applications of homogenization, we refer to the survey paper by Y. Amirat, K. Hamdache and A. Ziani [5].

Homogenization problems which introduce the memory or nonlocal effect are difficult and, despite three decades research, the available results are still restricted to particular types of equations. The purpose of this paper is to present the memory or nonlocal effect induced by homogenization of second order differential equations including initial and boundary value problems. We shall give a survey and some short proofs in this paper. For some of the detail proofs, the reader is referred to [9-11].

The organization of the paper is as follows: In section 2, we study the homogenization of initial value problems of second order differential equations with time dependent coefficients. The second order differential equation with the damping term is also investigated via Liouville transforms. The memory or nonlocal kernel is described by Volterra equations. In second 3, we investigate the case when the coefficient is time-independent. Due to the time translation invariant of the equation, the Volterra equation obtained in section 2 is an integral equation of the convolution type. We can solve the Volterra integral equation by Laplace transform and reduce it to the moment relation. The homogenized equation of the initial value problem is an integro-differential equation with the nonlocal or memory kernel given explicitly as the product of the fundamental solution (in fact, the Green function) of the associated second order differential equation with the Young's measure. The explicit upper and lower bounds of the effective coefficients are also obtained and proved to be optimal. This reflects the fact that the homogenized equation also obeys the finiteness of the speed of propagation. We introduce the kinetic variable to obtain the kinetic formulation of the homogenized equation. Using the kinetic formulation we show that the homogenization procedure does not obey the principle of equipartition of energy.

In the final section, We investigate the homogenization of the boundary value problem of a second order differential equation. The nonlocal term can be described by the eigenfunction expansion. The Fredholm alternative is also discussed. In particular, when the coefficients are independent of x, the nonlocal kernel can be characterized explicitly in terms of the Young's measure.

2. Second Order Time-dependent Equation

We start from the second order time-dependent equation

(2.1)
$$\begin{cases} \frac{\partial^2}{\partial t^2} u^{\epsilon}(x,t) & -a^{\epsilon}(x,t)u^{\epsilon}(x,t) = f(x,t), \quad (x,t) \in \Omega \times (0,T), \\ u^{\epsilon}(x,0) & = 0, \quad \partial_t u^{\epsilon}(x,0) = 0, \quad x \in \Omega. \end{cases}$$

where the sequence of measurable functions defined by $a^{\epsilon}(x,t) = a(\frac{x}{\epsilon},t)$ satisfies the bounds

(2.2)
$$\alpha \leq a^{\epsilon}(x,t) \leq \beta$$
, a.e. in $[0,\pi] \times [0,T]$,

and is equicontinuous in t, i.e., there is a function φ such that $\varphi(\sigma) \to 0$ as $\sigma \to 0$ and

$$(2.3) |a^{\epsilon}(x,t) - a^{\epsilon}(x,s)| < \varphi(|t-s|).$$

For any continuous function f(x,t) the solution sequences of Eq. (2.1) can be represented as

(2.4)
$$u^{\epsilon}(x,t) = \int_0^t G^{\epsilon}(x,s,t) f(x,s) \, ds \,,$$

where $G^{\epsilon}(x, s, t)$ is the Green's function for the initial value problem of the differential operator

$$\mathcal{L} \equiv \frac{\partial^2}{\partial t^2} - a^{\epsilon}(x, t).$$

It is zero if t < s. For $t \ge s$, it is the solution of the differential equation (for fixed s and variable t) $\mathcal{L}[G^{\epsilon}] = 0$ with the initial conditions

$$G^{\epsilon}(x,s,s)=0\,,\quad rac{\partial}{\partial t}G^{\epsilon}(x,s,s)=1\,.$$

We define the functions H^{ϵ} by

$$H^{\epsilon}(x,s,t) = a^{\epsilon}(x,t)G^{\epsilon}(x,s,t)$$
 in $\Omega \times (0,T) \times (0,T)$.

As in Tartar [23], the sequence of measurable functions $\{a^{\epsilon}\}_{\epsilon}$ is uniformly bounded in $L^{\infty}(\Omega \times (0,T))$. According to the Banach-Alaoglu-Bourbaki theorem, a norm bounded set is relatively compact in weak-* topology. Consequently, we may extract a subsequence still denoted by $\{a^{\epsilon}\}_{\epsilon}$ with

$$a^{\epsilon} \stackrel{w}{\rightharpoonup} a^{0}$$
 weak * in $L^{\infty}(\Omega \times (0,T))$.

Compactness requires more than just boundedness here because of the strong topology in t. For this reason we appeal to the Arzela-Ascloi theorem which asserts that $\{f_n\}$ is a relatively compact set in $C([0,\infty); w^*-L^\infty(\Omega))$ if and only if

- (i) $\{f_n(t)\}\$ is a relatively compact set in w^* - $L^{\infty}(\Omega)$ for all $t \geq 0$;
- (ii) $\{f_n\}$ is a equicontinuous in $C([0,\infty); w^*-L^\infty(\Omega))$, i.e. for every $g \in L^1(\Omega)$ the sequence $\{\langle gf_n \rangle\}$ is equicontinuous in $C([0,\infty))$.

We know from (2.3) that a^{ϵ} is equicontinuous in t, which implies that the functions $G^{\epsilon}(x,s,t)$ are bounded with bounded derivatives in s and t, and that B^{ϵ} are bounded with bounded derivatives in s and are equicontinuous in t. Since a^{ϵ} is uniformly bounded and equicontinuous in t, this implies that the functions $G^{\epsilon}(x,s,t)$ are bounded with bounded derivatives in s and t and that t are bounded with bounded derivatives in t and then applying the Arzela-Ascoli theorem, we may extract a subsequence such that

$$(2.5) \qquad \left\{ \begin{array}{ll} a^{\epsilon}(\cdot,t) \stackrel{w}{\rightharpoonup} a^{0}(\cdot,t) & \text{in} L^{\infty}(\Omega) \ \text{weak} * \ \forall t \ \in (0,T) \\ G^{\epsilon}(\cdot,s,t) \stackrel{w}{\rightharpoonup} G^{0}(\cdot,s,t) & \text{in} \\ H^{\epsilon}(\cdot,s,t) \stackrel{w}{\rightharpoonup} H^{0}(\cdot,s,t) & \text{in} \ L^{\infty}(\Omega) \ \text{weak} * \ \forall t \ \in (0,T) \,. \end{array} \right.$$

Because of the quadratic nature of the second term of the right hand side of (2.1) the weak convergence in (2.5) does not imply

$$a^{\epsilon}(\cdot,t)G^{\epsilon}(\cdot,s,t) \stackrel{w}{\rightharpoonup} a^{0}(\cdot,t)G^{0}(\cdot,s,t)$$
 in $L^{\infty}(\Omega)$ weak * $\forall t \in (0,T)$.

Consequently, the problem of passage to the limit involves further investigation. Indeed, there is persistence of oscillations of the solutions due to the lack of compactness. For $(x, s, t) \in \Omega \times (0, T) \times (0, T)$ we define the function C by

(2.6)
$$C(x, s, t) \equiv H^{0}(x, s, t) - a^{0}(x, t)G^{0}(x, s, t).$$

Substituting (2.4), the explicit expression of u^{ϵ} , into (2.1) we find that u^{ϵ} satisfying the integro-differential equation

(2.7)
$$\frac{\partial^2}{\partial t^2} u^{\epsilon}(x,t) - \int_0^t a^{\epsilon}(x,t) G^{\epsilon}(x,s,t) f(x,s) ds = f(x,t).$$

On the other hand, it follows from (2.2) and (2.4) that the weak limit of u^{ϵ} and $a^{\epsilon}u^{\epsilon}$ are given respectively by

(2.8)
$$u^{0}(x,t) = \int_{0}^{t} G^{0}(x,s,t) f(x,s) ds,$$

(2.9)
$$w^0(x,t) = \int_0^t H^0(x,s,t) f(x,s) ds.$$

Taking the limit in (2.7) and using (2.6), we see that u^0 satisfies

$$(2.10) \quad \frac{\partial^2}{\partial t^2} u^0(x,t) - \int_0^t [C(x,s,t) + a^0(x,t)G^0(x,s,t)] f(x,s) \, ds = f(x,t),$$

hence we obtain the following relation

(2.11)
$$\frac{\partial^2}{\partial t^2} u^0(x,t) - a^0(x,t) u^0(x,t) - \int_0^t C(x,s,t) f(x,s) \, ds = f(x,t) \, .$$

To describe the memory or nonlocal kernel we let

(2.12)
$$g(x,t) \equiv f(x,t) + \int_0^t C(x,s,t)f(x,s) \, ds \, .$$

Solving this Volterra integral equation of f(x, t), we obtain

(2.13)
$$f(x,t) = g(x,t) - \int_0^t D(x,s,t)g(x,s) \, ds$$

where the kernel D is a solution of the following integral equation

(2.14)
$$D(x,s,t) = C(x,s,t) - \int_s^t C(x,s,\sigma)D(x,\sigma,t) d\sigma.$$

Let

(2.15)
$$g(x,t) = \frac{\partial^2}{\partial t^2} u^0(x,t) - a^0(x,t) u^0(x,t) ,$$

and using (2.11) and (2.13) we find that the weak limit u^0 satisfies the integrodifferential equation

(2.16)
$$\frac{\partial^{2}}{\partial t^{2}} u^{0}(x,t) - a^{0}(x,t)u^{0}(x,t) - \int_{0}^{t} D(x,s,t) \left[\frac{\partial^{2}}{\partial s^{2}} u^{0}(x,s) - a^{0}(x,s)u^{0}(x,s) \right] ds = f(x,t),$$

which, after integrating by part, becomes

$$(2.17) \qquad \frac{\partial^2}{\partial t^2} u^0(x,t) - a^0(x,t) u^0(x,t) - \int_0^t K(x,s,t) u^0(x,s) \, ds = f(x,t) \, ,$$

where the kernel K is given by

(2.18)
$$K(x, s, t) = \frac{\partial^2}{\partial s^2} D(x, s, t) - a^0(x, s) D(x, s, t) ,$$

with $(x, s, t) \in \Omega \times (0, T) \times (0, T)$. We thus have proved:

Theorem 2.1. Under hypothesis (2.2)-(2.3) the homogenized equation of the equation (2.1) is

(2.19)
$$\begin{cases} \frac{\partial^2}{\partial t^2} u^0(x,t) & -a^0(x,t) u^0(x,t) - \int_0^t K(x,s,t) u^0(x,s) \, ds = f(x,t), \\ u^0(x,0) & = 0, \quad \partial_t u^0(x,0) = 0, \quad x \in \Omega. \end{cases}$$

The memory kernel K is given by (2.18) and the kernel D defined on $\Omega \times (0,T) \times (0,T)$ is the solution of the Volterra equation

(2.20)
$$\begin{cases} C(x,s,t) = D(x,s,t) + \int_s^t C(x,s,\sigma)D(x,\sigma,t) d\sigma, \\ D(x,t,t) = 0, \quad \partial_t D(x,t,t) = 0, \end{cases}$$

with C defined by (2.5) - (2.6).

Using the Liouville transformation we have the following

Corollary 2.2. Under the same hypothesis as Theorem 2.1 the homogenized equation of

(2.21)
$$\begin{cases} \frac{\partial^2}{\partial t^2} u^{\epsilon}(x,t) + b(x) \frac{\partial}{\partial t} u^{\epsilon}(x,t) - a^{\epsilon}(x,t) u^{\epsilon}(x,t) = f(x,t), \\ u^{\epsilon}(x,0) = 0, \quad \partial_t u^{\epsilon}(x,0) = 0, \quad x \in \Omega. \end{cases}$$

is given by

(2.22)
$$\begin{cases} \frac{\partial^2}{\partial t^2} u^0(x,t) + b(x) \frac{\partial}{\partial t} u^0(x,t) - a^0(x,t) u^0(x,t) \\ + \int_0^t K(x,s,t) u^0(x,s) ds = f(x,t), \\ u^0(x,0) = 0, \quad \partial_t u^0(x,0) = 0, \quad x \in \Omega \end{cases}$$

The memory kernel K is given by

(2.23)
$$K(x,s,t) = \frac{\partial^2}{\partial s^2} D(x,s,t) - b(x) \frac{\partial}{\partial s} D(x,s,t) - a^0(x,s) D(x,s,t)$$

where the kernel D defined on $\Omega \times (0,T) \times (0,T)$ is the solution of the Volterra equation (2.20).

3. Second Order Time-Independent Equation

In this section we consider the time-independent case;

(3.1)
$$\begin{cases} \frac{\partial^2}{\partial t^2} u^{\epsilon}(x,t) - a^{\epsilon}(x) u^{\epsilon}(x,t) = f(x,t), & (x,t) \in \Omega \times (0,T), \\ u^{\epsilon}(x,0) = 0, & \partial_t u^{\epsilon}(x,0) = 0, & x \in \Omega, \end{cases}$$

where $\{a^{\epsilon}(x)\}\$ is a sequence of measurable functions that satisfies

$$(3.2) 0 < \alpha \le a^{\epsilon}(x) \le \beta, \quad a^{\epsilon} \stackrel{w}{\rightharpoonup} a^{0} \quad \text{in} \quad L^{\infty}(\Omega) \quad \text{weak*}$$

we then have the following theorem.

Theorem 3.1. There is a subsequence of $\{a^{\epsilon}\}_{\epsilon}$ and a kernel K defined on $\Omega \times [0, \infty)$ such that for every bounded and measurable function f, the sequence

 $\{u^{\epsilon}\}_{\epsilon}$ of the solutions of problem (3.1) converges weak * to the unique solution u^0 of

(3.3)
$$\begin{cases} \frac{\partial^2}{\partial t^2} u^0(x,t) - a^0(x) u^0(x,t) + K * u^0 = f(x,t), \\ u^{\epsilon}(x,0) = 0, \quad \partial_t u^{\epsilon}(x,0) = 0, \end{cases}$$

where a^0 is the weak * limit of a^ϵ and the memory kernel K admits the integral representation

(3.4)
$$K(x,t) = \int_{I} \frac{-1}{\sqrt{\lambda}} \sinh t \sqrt{\lambda} \, d\mu_x(\lambda) \,.$$

Here $\{\mu_x\}$ is a family of parametrized nonnegative measure associated with $\{a^{\epsilon}\}$ and supported in $I = [\alpha, \beta]$. Moreover, a^0 satisfies the optimal estimates

$$(3.5) 0 < \alpha + \int_{I} \frac{1}{\lambda - \alpha} d\mu_{x}(\lambda) \le a^{0}(x) \le \beta - \int_{I} \frac{1}{\beta - \lambda} d\mu_{x}(\lambda).$$

Proof. The display of the kernel K relies upon the use of the Laplace transform in t of Eq. (3.1). The solution of (3.1) can be represented as

(3.6)
$$u^{\epsilon}(x,t) = \int_0^t G^{\epsilon}(x,t-s)f(x,s)ds.$$

where the Green's function G^{ϵ} is given by

(3.7)
$$G^{\epsilon}(x,t) = \left\{ \frac{1}{\sqrt{a^{\epsilon}(x)}} \sinh t \sqrt{a^{\epsilon}(x)}, \quad t > 0, \quad 0, \quad t < 0. \right.$$

In order to study the limit we shall use the Young's measure associated with the sequence $\{a^{\epsilon}\}$: there exists a probability measure ν_x such that the weak limit of a^{ϵ} is given explicitly by

$$(3.8) a^0 = w^*\text{-}\lim a^\epsilon = \langle \lambda, \nu_x \rangle = \int_I \lambda d\nu_x(\lambda) \,.$$

Hence by Young's fundamental theorem, we obtain

(3.9)
$$G^{0}(x,t-s) = w^{*}-\lim A^{\epsilon}(x,t-s) = \int_{I} \frac{1}{\sqrt{\lambda}} \sinh(t-s)\sqrt{\lambda} d\nu_{x}(\lambda),$$
$$H^{0}(x,t-s) = w^{*}-\lim B^{\epsilon}(x,t-s) = \int_{I} \frac{\lambda}{\sqrt{\lambda}} \sinh(t-s)\sqrt{\lambda} d\nu_{x}(\lambda).$$

Therefore the fluctuation part is

(3.10)
$$C(x, t - s) = H^0 - a^0 G^0 = \int_I (\lambda - a^0) \frac{1}{\sqrt{\lambda}} \sinh(t - s) \sqrt{\lambda} d\nu_x(\lambda)$$
.

Taking the Laplace transform of both sides of (2.14) and (3.10) respectively we have

(3.11)
$$LD(x,p) = \frac{LC(x,p)}{1 + LC(x,p)},$$

(3.12)
$$LC(x,p) = -1 + \int_{I} \frac{p^2 - a^0}{p^2 - \lambda} d\nu_x(\lambda).$$

Hence

$$(3.13) \quad LD(x,p) = \frac{1}{p^2 - a^0} \cdot \left[\int_I (p^2 - \lambda) d\nu_x(\lambda) - \left(\int_I \frac{1}{p^2 - \lambda} d\nu_x(\lambda) \right)^{-1} \right].$$

By the representation theorem, there exists a parameterized measure $d\mu_x$, defined on $I=[\alpha,\beta]$ associated with the Young's measure $d\nu_x$, satisfying the *moments relation*:

$$(3.14) \qquad \int_{I} \frac{1}{p^2 - \lambda} d\mu_x(\lambda) = \left[\int_{I} (p^2 - \lambda) d\nu_x(\lambda) - \left(\int_{I} \frac{1}{p^2 - \lambda} d\nu_x(\lambda) \right)^{-1} \right]$$

Combining (3.13) and (3.14) yields

(3.15)
$$LD(x,p) = \frac{1}{p^2 - a^0} \cdot \int_I \frac{1}{p^2 - \lambda} d\mu_x(\lambda)$$

which can be inverted immediately, giving

(3.16)
$$D(x,t-s) = \left(\frac{1}{\sqrt{a^0}}\sinh(t-s)\sqrt{a^0}\right) * \left(\int_I \frac{1}{2\sqrt{\lambda}}\sinh(t-s)\sqrt{\lambda}d\mu_x(\lambda)\right)$$
$$= \int_0^{t-s} \frac{1}{\sqrt{a^0}}\sinh(t-s-\sigma)\sqrt{a^0}\left[\int_I \frac{1}{2\sqrt{\lambda}}\sinh\sigma\sqrt{\lambda}d\mu_x(\lambda)\right]d\sigma.$$

Note that the convolution is taken in the time variable t. Thus, the memory kernel K is given by

(3.17)
$$K(x,t) = K(x,t-s)\Big|_{s=0} = \frac{\partial^2}{\partial s^2} D(x,t-s) - a^0(x) D(x,t-s)\Big|_{s=0}$$
$$= \int_I \frac{-1}{\sqrt{\lambda}} \sinh t \sqrt{\lambda} \, d\mu_x(\lambda)$$

Performing the Laplace transform of K with the aid of the moment relations (3.14) yields

(3.18)
$$LK(x,p) = \left\langle \frac{1}{p^2 - \lambda}, \mu_x \right\rangle = \left\langle p^2 - \lambda, \nu_x \right\rangle - \left\langle \frac{1}{p^2 - \lambda}, \nu_x \right\rangle^{-1}$$

where p is the Laplace variable corresponding to t. Now we are in a position to estimate the upper and lower bounds for the weak limit $a^0(x)$ of $a^{\epsilon}(x)$. From the moment relation (3.14) and the explicit form of a^0 in (3.8), we can define the complex-valued function F(z) by

(3.19)
$$F(z) = z - a^0(x) - \int_I \frac{d\mu_x(\lambda)}{z - \lambda}.$$

Setting $z = \xi + i\eta$ and taking the real part after differentiation, we obtain

$$F'(\xi) = 1 + \int_{I} \frac{d\mu_x(\lambda)}{(\xi - \lambda)^2}$$

i.e., $F(\xi)$ is an increasing function for $\xi < \alpha$ and $\beta < \xi$. This leads to

$$\alpha - a^0(x) - \int_I \frac{d\mu_x(\lambda)}{\alpha - \lambda} \le 0 \le \beta - a^0(x) - \int_I \frac{d\mu_x(\lambda)}{\beta - \lambda},$$

or

$$\alpha + \int_{I} \frac{d\mu_{x}(\lambda)}{\lambda - \alpha} \le a^{0}(x) \le \beta - \int_{I} \frac{d\mu_{x}(\lambda)}{\beta - \lambda}.$$

This completes the proof.

As an immediate consequence of Theorem 3.1, we have the following result on the effect of the damping term.

Corollary 3.2. Under the same hypothesis as Theorem 3.1, the homogenized equation of

(3.20)
$$\begin{cases} \frac{\partial^2}{\partial t^2} u^{\epsilon}(x,t) + b(x) \frac{\partial}{\partial t} u^{\epsilon}(x,t) - a^{\epsilon}(x) u^{\epsilon}(x,t) = f(x,t), \\ u^{\epsilon}(x,0) = 0, \quad \partial_t u^{\epsilon}(x,0) = 0, \end{cases}$$

is given by

(3.21)
$$\begin{cases} \frac{\partial^2}{\partial t^2} u^0(x,t) + b(x) \frac{\partial}{\partial t} u^0(x,t) - a^0(x) u^0(x,t) \\ + \int_0^t K(x,t-s) u^0(x,s) ds = f(x,t), \\ u^{\epsilon}(x,0) = 0, \quad \partial_t u^{\epsilon}(x,0) = 0, \end{cases}$$

where the weak limit of $\{a^{\epsilon}\}_{\epsilon}$ is the same as (3.8). The memory kernel K is given explicitly by

(3.22)
$$K(x,t) = \left\langle \exp\left(-t\frac{b(x)}{2}\right) \frac{-1}{\sqrt{\frac{b^2(x)}{4} + \lambda}} \sinh t\sqrt{\lambda + \frac{b^2(x)}{4}}, \mu_x \right\rangle$$

and a^0 satisfies the optimal estimate

$$(3.23) \ \alpha + \int_{I} \frac{1}{\lambda - \alpha} d\mu_{x}(\lambda) - \frac{1}{4} b^{2}(x) \le a^{0}(x) \le \beta - \int_{I} \frac{1}{\beta - \lambda} d\mu_{x}(\lambda) - \frac{1}{4} b^{2}(x).$$

The additional correction term $-\frac{1}{4}b^2(x)$ is due to the effect of damping.

Let $S^{\epsilon}(x,t)$ be the semi-group associated with Eq. (3.1). The weak limit $S(x,t,\lambda)$ of $\{S^{\epsilon}(x,t)\}$ is not a semi-group in the same class. To see what is the correct class we go to the kinetic formulation. More precisely, we prove the following statement.

Theorem 3.3. The effective equation (3.3) admits a kinetic formulation

(3.24)
$$\frac{\partial^2}{\partial t^2}\omega(x,t,\lambda) - \lambda\omega(x,t,\lambda) + u^0(x,t) = 0, \omega(x,0,\lambda) = 0, \quad \partial_t \qquad \omega(x,0,\lambda) = 0,$$

(3.25)
$$\frac{\partial^2}{\partial t^2} u^0(x,t) - a^0(x) u^0(x,t) + \int_I \omega(x,t,\lambda) \, d\mu_x(\lambda) = f,$$
$$u^0(x,0) = 0, \quad \partial_t \qquad u^0(x,0) = 0,$$

for $x \in \Omega$, $t \in (0,T)$ and $\lambda \in I$. The effective equation does not possess the principle of equipartition of energy. Indeed, the total energy of the homogenized equation is decomposed into two parts $E^0 = E^0_{ma} + E^0_{mi}$ which are given by

(3.26)
$$E_{ma}^{0} = \frac{1}{2} |\partial_{t} u^{0}|^{2} + \left(-\frac{1}{2} a^{0}(x) |u^{0}|^{2} - f u^{0}\right)$$

(3.27)
$$E_{mi}^{0} = \int_{I} \left(\frac{1}{2} |\partial_t \omega|^2 - \frac{1}{2} \lambda |\omega|^2 + \omega u^0 \right) d\mu_x(\lambda).$$

Proof. We introduce a new variable λ , describing the oscillations of the sequence $\{a^{\epsilon}\}_{\epsilon}$, which lies in the interval I and the auxiliary function ω defined by

(3.28)
$$\omega(x,t,\lambda) \equiv \int_0^t u^0(x,s) \frac{-1}{\sqrt{\lambda}} \sinh(t-s) \sqrt{\lambda} \, ds \, .$$

Here u^0 is the weak limit of a subsequence of $\{u^{\epsilon}\}$ satisfying (3.11). Direct computation shows that ω satisfies (3.24). If u^{ϵ} stands for a position, then Eq. (3.1) is Newton's equation. For convenience we assume that the force field does not depend on the time variable t explicitly. Then the kinetic and potential energies are given by

(3.29)
$$T^{\epsilon} = \frac{1}{2} |\partial_t u^{\epsilon}|^2, \quad V^{\epsilon} = -\frac{1}{2} a^{\epsilon}(x) |u^{\epsilon}|^2 - f u^{\epsilon}$$

respectively, and the total energy is

(3.30)
$$E^{\epsilon} \equiv T^{\epsilon} + V^{\epsilon} = \frac{1}{2} |\partial_t u^{\epsilon}|^2 + \left(-\frac{1}{2} a^{\epsilon}(x) |u^{\epsilon}|^2 - f u^{\epsilon} \right)$$

It is difficult to characterize the limiting behavior of the total energy from this expression. However, if we multiply (3.25) by $\partial_t u^0$ and then apply (3.24), we find that the total energy $E^0 = E^0_{ma} + E^0_{mi}$ of the homogenized equation is constituted of two parts; the macroscopic energy E^0_{ma} and the microscopic energy E^0_{mi} defined by (3.26) and (3.27). It is obvious that $E^\epsilon \neq E^0_{ma}$. Thus the principle of equipartition of energy does not hold. These calculations establish the theorem.

Remark. The semi-group $S(x,t,\lambda)$ is in a larger class which includes a variable λ , which plays the role of the kinetic variable, and the auxiliary function ω . When the microscopic velocity is not equal to the macroscopic velocity, the averaged kinetic energy E^0 is more than the kinetic energy E^0_{ma} , computed from the microscopic velocity. The difference E^0_{mi} is then called the internal energy (see Tartar [23]).

With the same arguments, we prove the following.

Theorem 3.4. The effective equation (3.21) admits a kinetic formulation

$$(3.31) \begin{cases} ds\partial_{tt}u^{0}(x,t) + b(x)\partial_{t}u^{0}(x,t) - a^{0}(x)u^{0}(x,t) + \int_{I}\omega(x,t,\lambda) d\mu_{x}(\lambda) = f, \\ u^{0}(x,0) = 0, \quad \partial_{t}u^{0}(x,0) = 0 \\ \partial_{tt}\omega(x,t,\lambda) + b(x)\partial_{t}\omega(x,t,\lambda) - \lambda\omega(x,t,\lambda) + u^{0}(x,t) = 0, \\ \omega(x,0,\lambda) = 0, \quad \partial_{t}\omega(x,0,\lambda) = 0 \end{cases}$$

for $x \in \Omega$, $t \in (0,T)$ and $\lambda \in I$. The total energy E^0 of the homogenized equation is decomposed into two parts $E^0 = E^0_{ma} + E^0_{mi}$ given respectively by

$$(3.32) E_{ma}^{0} = \frac{1}{2} |\partial_{t}u^{0}|^{2} + \left(-\frac{1}{2}a^{0}(x)|u^{0}|^{2} - fu^{0} \right) + b(x) \int_{0}^{t} |\partial_{\tau}u^{0}(x,\tau)|^{2} d\tau ,$$

(3.33)
$$E_{mi}^{0} = \int_{I} \left(\frac{1}{2} |\partial_{t}\omega|^{2} - \frac{1}{2} \lambda |\omega|^{2} + \omega u + b(x) \int_{I} \int_{0}^{t} |\partial_{\tau}\omega(x,\tau,\lambda)|^{2} d\tau d\mu_{x}(\lambda) \right).$$

The principle of equipartition of energy does not hold in this case neither.

4. BOUNDARY VALUE PROBLEM

In this section we shall study the behavior of solutions u^{ϵ} , as ϵ goes to zero, of the second order differential equation

(4.1)
$$\mathcal{L}^{\epsilon}u^{\epsilon}(x,t) \equiv -\partial_{x}^{2}u^{\epsilon}(x,t) + a^{\epsilon}(x,t)u^{\epsilon}(x,t) = \lambda u^{\epsilon}(x,t) + f(x,t),$$
$$u^{\epsilon}(0,\cdot) = u^{\epsilon}(\pi,\cdot) = 0,$$

where $f(x,t), a(x,t) \in C([0,\pi] \times [0,T]), (x,t) \in [0,\pi] \times [0,T]$. Here λ is a parameter, while the sequence of measurable functions defined by $a^{\epsilon}(x,t) = a(x,\frac{t}{\epsilon})$ satisfy the bounds

$$(4.2) \alpha \le a^{\epsilon}(x,t) \le \beta, \text{a.e. in } [0,\pi] \times [0,T]$$

and is equicontinuous in x, i.e., there is a function φ such that $\varphi(\sigma)\to 0$ as $\sigma\to 0$ and

$$(4.3) |a^{\epsilon}(x,t) - a^{\epsilon}(z,t)| \le \varphi(|x-z|)$$

Let us now state the three main theorems.

Theorem 4.1. Under hypotheses (4.2)-(4.3), there exists a compact operator \mathbf{C} on $L^2([0,\pi])$ with the eigenfunctions $\{\phi_n(x)\}_n$ and the eigenvalues $\{\mu_n(\lambda,t)\}_n$ satisfying

(4.4)
$$\phi_n(x) - \frac{1}{\mu_n(\lambda, t)} \mathbf{C} \phi_n(x) = 0, \quad n = 1, 2, 3, \dots$$

and $a^0(x,t)$ is the weak star limit of $\{a^{\epsilon}(x,t)\}$ in $L^{\infty}[0,\pi]$, $t \in [0,T]$. If $\mu_n(\lambda,t) \neq 1, n = 1, 2, \cdots$, (i.e., 1 is not the eigenvalue of \mathbf{C}) then there exists a kernel $K(\lambda, x, y, t)$ defined on $[0,\pi] \times [0,\pi] \times [0,T]$ such that for every bounded and measurable function f, the sequence u^{ϵ} of solutions of (4.1) converges weakly to the solution $u^0(x,t)$ of

(4.5)
$$\mathcal{L}^{0}u^{0}(x,t) = \lambda u^{0}(x,t) + f(x,t)$$
$$u^{0}(0,t) = u^{0}(\pi,t) = 0, \quad t \in [0,T].$$

Here \mathcal{L}^0 is the integro-differential operator defined by

(4.6)
$$\mathcal{L}^{0}u^{0}(x,t) := -\frac{\partial^{2}}{\partial x^{2}}u^{0}(x,t) + a^{0}(x,t)u^{0}(x,t) + \int_{0}^{\pi} K(\lambda, x, y, t)u^{0}(y, t) dy,$$

and the kernel $K(\lambda, x, y, t)$ is given by

(4.7)
$$K(\lambda, x, y, t) := \sum_{n=1}^{\infty} \frac{\mu_n(\lambda, t)}{1 - \mu_n(\lambda, t)} K_n(\lambda, y, t) \phi_n(x)$$

with

(4.8)
$$K_n(\lambda, y, t) = -\partial_y^2 \phi_n(y) + (a^0(y, t) - \lambda)\phi_n(y).$$

We also have an explicit illustration of the Fredholm Alternative.

Theorem 4.2. Under the same hypothesis as Theorem 4.1, let $\Lambda \equiv \{n : 1 - \mu_n(\lambda, t) \neq 0\}$, $\Lambda^c \equiv \{n : 1 - \mu_n(\lambda, t) = 0\}$ and if moreover, f is orthogonal to the eigenspace (i.e., $\langle f, \phi_n \rangle = 0, n = 1, 2, 3, \cdots$), then the limit u^0 of the sequence of solutions $\{u^\epsilon\}$ of the problem (4.1) satisfies the equation

(4.9)
$$\mathcal{L}^{0}u^{0}(x,t) = \lambda u^{0}(x,t) + f(x,t) - g(x,t)$$
$$u^{0}(0,t) = u^{0}(\pi,t) = 0, \quad t \in [0,T].$$

Here \mathcal{L}^0 is the integro-differential operator defined the same as (4.6), and the kernel $K(\lambda, x, y, t)$ is given explicitly in terms of the eigenfunctions

(4.10)
$$K(\lambda, x, y, t) = \sum_{n \in \Lambda} \frac{\mu_n(\lambda, t)}{1 - \mu_n(\lambda, t)} K_n(\lambda, y, t) \phi_n(x)$$

where K_n is defined in (4.8) and

(4.11)
$$g(x,t) = \sum_{n \in \Lambda^c} c_n(t)\phi_n(x)$$

with c_n being arbitrary constants.

When the oscillating coefficients $\{a^{\epsilon}\}_{\epsilon}$ are independent of x, we can apply the Young's measure theory developed by Tartar [20, 21] to characterize the kernel K.

Theorem 4.3. Under the assumptions of Theorem 4.1, and if $a^{\epsilon}(x,t)$ is independent of x, $a^{\epsilon}(x,t) = a^{\epsilon}(t)$, there exists a compact operator \mathbf{C} with eigenfunctions and eigenvalues given by $\left\{\phi_n(x) = \sqrt{\frac{2}{\pi}}\sin nx\right\}$ and $\left\{\int_I \frac{\omega - a^0(t)}{n^2 - (\lambda - \omega)} d\nu_t(\omega)\right\}$ where ν_t denotes the Young's measure corresponding to a subsequence of $\{a^{\epsilon}\}$. There is a subsequence of $\{a^{\epsilon}\}$ and a kernel K associated with $\{a^{\epsilon}\}$ such that the solution sequence $\{u^{\epsilon}\}$ of $\{4.1\}$ converges weakly to the solution $u^0(x,t)$ of

(4.12)
$$-\frac{\partial^2}{\partial x^2} u^0(x,t) + a^0(t) u^0(x,t) + \int_0^{\pi} K(\lambda, x, y, t) u^0(y, t) dy$$
$$= \lambda u^0(x, t) + f(x, t)$$

(4.13)
$$u^0(0,t) = u^0(\pi,t) = 0, \quad x \in [0,T].$$

The kernel $K(\lambda, x, y, t)$ is given by

(4.14)
$$K(\lambda, x, y, t) = \int_{I} \left(\sum_{n=1}^{\infty} \frac{-\phi_n(x)\phi_n(y)}{n^2 - (\lambda - \omega)} \right) d\mu_t(\omega).$$

Here the nonnegative parameterized measure μ_t is associated with the Young's measure ν_t through the moment relation (4.49) below.

Proof. of Theorem 4.1 The solution sequence $\{u^{\epsilon}(x,t)\}$ of (4.1) is represented by

(4.15)
$$u^{\epsilon}(x,t) = \int_0^{\pi} G^{\epsilon}(\lambda, x, y, t) f(y, t) dy,$$

where $G^{\epsilon}(\lambda, x, y, t)$ is the Green's function of (4.1). We define the functions H^{ϵ} by

(4.16)
$$H^{\epsilon}(\lambda, x, y, t) = (a^{\epsilon}(x, t) - \lambda)G^{\epsilon}(\lambda, x, y, t)$$

 $(x,y,t) \in [0,\pi] \times [0,\pi] \times [0,T]$. Since a^{ϵ} is uniformly bounded and equicontinuous in x, this implies that the functions $G^{\epsilon}(\lambda,x,y,t)$ are bounded and that H^{ϵ} are bounded equicontinuous in x. Using equicontinuity properties in x and then applying the Arzela-Ascoli theorem, we may extract a subsequence such that

$$(4.17) \qquad a^{\epsilon}(x,\cdot) \stackrel{w}{\rightharpoonup} a^{0}(x,\cdot) \qquad \text{in } L^{\infty}[0,T] \text{ weak* } \forall x \in [0,\pi]$$

$$G^{\epsilon}(\lambda,x,y,\cdot) \stackrel{w}{\rightharpoonup} G^{0}(\lambda,x,y,\cdot) \text{ in } L^{\infty}[0,T] \text{ weak* } \forall x,y \in [0,\pi]$$

$$H^{\epsilon}(\lambda,x,y,\cdot) \stackrel{w}{\rightharpoonup} H^{0}(\lambda,x,y,\cdot) \text{ in } L^{\infty}[0,T] \text{ weak* } \forall x,y \in [0,\pi].$$

For $(x, y, t) \in [0, \pi] \times [0, \pi] \times [0, T]$, we define the function C by

(4.18)
$$C(\lambda, x, y, t) \equiv H^{0}(\lambda, x, y, t) - (a^{0}(x, t) - \lambda)G^{0}(\lambda, x, y, t).$$

which describes the corrector of the weak limit. It is clear from (4.15) that u^{ϵ} satisfies the following integro-differential equation

$$(4.19) \qquad -rac{\partial^2}{\partial x^2} u^\epsilon(x,t) + \int_0^\pi (a^\epsilon(x,t)-\lambda) G^\epsilon(\lambda,x,y,t) f(y,t) \, dy = f(x,t) \, .$$

Again from (4.15) we see that u^{ϵ} and $(a^{\epsilon} - \lambda)u^{\epsilon}$ converge weakly respectively to

(4.20)
$$u^{0}(x,t) = \int_{0}^{\pi} G^{0}(\lambda, x, y, t) f(y, t) dy,$$

(4.21)
$$w^{0}(\lambda, x, t) \equiv \int_{0}^{\pi} H^{0}(\lambda, x, y, t) f(y, t) dy.$$

Taking the limit in (4.19), we see that u^0 satisfies

$$(4.22) \quad \frac{\partial^2}{\partial x^2} u^0(x,t) + (a^0(x,t) - \lambda) u^0(x,t) + \int_0^{\pi} C(\lambda,x,y,t) f(y,t) \, dy = f(x,t) \, .$$

To describe the memory or nonlocal kernel, let

(4.23)
$$h(\lambda, x, t) \equiv f(x, t) - \int_0^{\pi} C(\lambda, x, y, t) f(y, t) dy$$
, in $[0, \pi] \times [0, T]$

and let C be the integral operator generated by C:

(4.24)
$$\mathbf{C}(f) \equiv \int_0^{\pi} C(\lambda, x, y, t) f(y) \, dy, \quad \forall f \in L^2([0, \pi]),$$

we see that the integral operator C is compact and self-adjoint. The Spectral Theorem can be used to obtain the explicit formula for the solution of the Fredlhom integral equation (4.23). Indeed, we have the eigenfunction expansion

(4.25)
$$\mathbf{C}(f) = \sum_{n=1}^{\infty} \mu_n(\lambda, t) \langle f, \phi_n \rangle \phi_n$$

where $\{\mu_n(\lambda,t)\}_n$ is a sequence of non-zero real number and $\{\phi_n\}_n$ is orthonormal and $\langle f,\phi_n\rangle=\int_0^\pi f(y)\phi_n(y)dy$ is the inner product. Solving the integral equation (4.23) by eigenfunction expansion, we obtain

$$(4.26) f(x,t) = h(\lambda,x,t) + \int_0^\pi D(\lambda,x,y,t)h(\lambda,y,t)dy$$

where

(4.27)
$$D(\lambda, x, y, t) = \sum_{n=1}^{\infty} \frac{\mu_n(\lambda, t)}{1 - \mu_n(\lambda, t)} \phi_n(y) \phi_n(x)$$

is the resolvent kernel corresponding to the kernel $C(\lambda, x, y, t)$. If we let

(4.28)
$$h(\lambda, x, t) = -\partial_x^2 u^0(x, t) + (a^0(x, t) - \lambda)u^0(x, t)$$

so that from (4.26) and integration by parts, we derive

(4.29)
$$-\partial_x^2 u^0(x,t) + a^0(x,t)u^0(x,t) + \int_0^{\pi} K(\lambda, x, y, t)u^0(y, t) dy$$
$$= \lambda u^0(x, t) + f(x, t)$$

where the kernel K is defined by the equation

(4.30)
$$K(\lambda, x, y, t) = -\partial_y^2 D(\lambda, x, y, t) + (a^0(y, t) - \lambda) D(\lambda, x, y, t)$$
$$= \sum_{n=1}^{\infty} \frac{\mu_n(\lambda, t)}{1 - \mu_n(\lambda, t)} K_n(y, t) \phi_n(x)$$

with $K_n(\lambda, y, t) = -\partial_y^2 \phi_n(y) + (a^0(y, t) - \lambda)\phi_n(y)$. This completes the proof of Theorem 4.1.

Proof. of Theorem 4.2. If, in the summation of (4.27), there are values of m for which $1 - \mu_m(\lambda, t) = 0$, let $\Lambda \equiv \{m : 1 - \mu_m(\lambda, t) \neq 0\}$ and $\Lambda^c \equiv \{m : 1 - \mu_m(\lambda, t) \neq 0\}$. Then Λ^c is a finite set and if $m \in \Lambda^c$ and (4.23) has a solution, then $\langle h, \phi_m \rangle = 0$. Since $\{\phi_m : m \in \Lambda^c\}$ is a basis for the set of ψ satisfying

$$\psi - \mathbf{C}(\psi) = \psi - \mathbf{C}^*(\psi) = 0$$

we have the usual condition for the existence of a solution. Indeed, by the Hilbert-Schmidt formula, if h satisfies this condition, the solution of the Fredholm integral equation (4.23) is

$$(4.31) \quad f(x,t) = h(\lambda, x, t) + \sum_{n \in \Lambda} \frac{\mu_n(\lambda, t)}{1 - \mu_n(\lambda, t)} \langle h, \phi_n \rangle \phi_n(x) + \sum_{n \in \Lambda^c} c_n(t) \phi_n(x)$$

where $\{c_n : n \in \Lambda^c\}$ are arbitrarily chosen constants. We may interchange the order of integration and summation to obtain

$$(4.32) f(x,t) = h(\lambda,x,t) + \int_0^\pi D_1(\lambda,x,y,t)h(\lambda,y,t)dy + g(x,t)$$

where

(4.33)
$$D_1(\lambda, x, y, t) = \sum_{n \in \Lambda} \frac{\mu_n(\lambda, t)}{1 - \mu_n(\lambda, t)} \phi_n(y) \phi_n(x)$$
$$g(x, t) = \sum_{n \in \Lambda^c} c_n(t) \phi_n(x)$$

Similarly, consider the function h

(4.34)
$$h(\lambda, x, t) = -\partial_x^2 u^0(x, t) + (a^0(x, t) - \lambda) u^0(x, t),$$

integration by part produces

(4.35)
$$-\partial_x^2 u^0(x,t) + a^0(x,t)u^0(x,t) + \int_0^{\pi} K(\lambda, x, y, t)u^0(y, t) dy$$
$$= \lambda u^0(x, t) + f(x, t) - g(x, t).$$

The kernel K is given by

(4.36)
$$K(\lambda, x, y, t) = \partial_y^2 D_1(x, y, t) - (a^0(y, t) - \lambda) D_1(\lambda, x, y, t)$$
$$= \sum_{n \in \Lambda^c} \frac{\mu_n(\lambda, t)}{1 - \mu_n(\lambda, t)} K_n(\lambda, y, t) \phi_n(x) .$$

This proves Theorem 4.2.

Proof of Theorem 4.3. When the coefficient a^{ϵ} is independent of x, $a^{\epsilon}(x,t) = a^{\epsilon}(t)$, then for $(x,t) \in [0,\pi] \times [0,T]$ Eq. (4.1) - (4.2) become

(4.37)
$$\begin{cases} -\frac{\partial^2}{\partial x^2} u^{\epsilon}(x,t) + a^{\epsilon}(t) u^{\epsilon}(x,t) = \lambda u^{\epsilon}(x,t) + f(x,t), \\ u^{\epsilon}(0,t) = 0, \quad u^{\epsilon}(\pi,t) = 0. \end{cases}$$

Let δ be the Dirac delta function. Then for

(4.38)
$$\left[-\frac{\partial^2}{\partial x^2} + (a^{\epsilon}(t) - \lambda) \right] G^{\epsilon}(\lambda, x, y, t) = \delta(x - y)$$

subject to the boundary conditions, the Green's function is given by

(4.39)
$$G^{\epsilon}(\lambda, x, y, t) = \frac{-1}{\sqrt{\lambda - a^{\epsilon}(t)} \sin \sqrt{\lambda - a^{\epsilon}(t)} \pi}$$

$$\begin{cases} \sin \sqrt{\lambda - a^{\epsilon}(t)} (\pi - y) \sin \sqrt{\lambda - a^{\epsilon}(t)} x, \\ 0 \le x \le y, \\ \sin \sqrt{\lambda - a^{\epsilon}(t)} (\pi - x) \sin \sqrt{\lambda - a^{\epsilon}(t)} y, \\ y \le x \le \pi, \end{cases}$$

Thus, the solution of (4.37) can be represented as

$$(4.40) u^{\epsilon}(x,t) = \int_0^{\pi} G^{\epsilon}(\lambda,x,y,t) f(y,t) dy.$$

It follows from the Young's fundamental theorem that

$$a^{0} = w^{*} - \lim a^{\epsilon} = \langle \omega, \nu_{t} \rangle = \int_{I} \omega d\nu_{t}(\omega) ,$$

$$(4.41) \quad G^{0}(\lambda, x, y, t) = w^{*} - \lim G^{\epsilon}(\lambda, x, y, t) = \int_{I} G(\lambda, x, y, \omega) d\nu_{t}(\omega) ,$$

$$B^{0}(\lambda, x, y, t) = w^{*} - \lim B^{\epsilon}(\lambda, x, y, t) = \int_{I} (\omega - \lambda) G(\lambda, x, y, \omega) d\nu_{t}(\omega) ,$$

where $I = \left[{lpha ,eta } \right],\,
u_t$ is the associated Young's measure and

$$(4.42) \qquad G(\lambda, x, y, \omega) = \frac{-1}{\sqrt{\lambda - \omega} \sin \sqrt{\lambda - \omega} \pi}$$

$$\begin{cases} \sin \sqrt{\lambda - \omega} (\pi - y) \sin \sqrt{\lambda - \omega} x, & 0 \le x \le y, \\ \sin \sqrt{\lambda - \omega} (\pi - x) \sin \sqrt{\lambda - \omega} y, & y \le x \le \pi, \end{cases}$$

is the Green's function for

(4.43)
$$-\partial_x^2 v(x,t) + (\omega - \lambda)v(x,t) = f(x,t),$$

$$v(0,t) = v(\pi,t) = 0.$$

Now, the fluctuation part is

$$(4.44) \quad C(\lambda, x, y, t) = B^{0} - (a^{0} - \lambda)G^{0} = \int_{I} (\omega - a^{0}(t))G(\lambda, x, y, \omega)d\nu_{t}(\omega).$$

To characterize the kernel, we express the Green's function $G(\lambda,x,y,\omega)$ as the sum of a series

(4.45)
$$G(\lambda, x, y, \omega) = \sum_{n=1}^{\infty} \frac{1}{s_n} \phi_n(x) \phi_n(y)$$

which involves all the eigenvalues $s_n = n^2 - (\lambda - \omega)$ and eigenvectors $\phi_n(x) = \sqrt{\frac{2}{\pi}} \sin nx$. Define the operator C by

(4.46)
$$\mathbf{C}\phi_n(x) := \int_0^{\pi} C(\lambda, x, y, t) \phi_n(y) dy = \mu_n(t) \phi_n(x) ,$$

with $\mu_n(t)$ given by

(4.47)
$$\mu_n(t) = \int_I \frac{\omega - a^0(t)}{n^2 - (\lambda - \omega)} d\nu_t(\omega).$$

After simple calculations, we have

(4.48)
$$\left[\int_{I} \frac{\omega - a^{0}(t)}{n^{2} - (\lambda - \omega)} d\nu_{t}(\omega) \middle/ \int_{I} \frac{1}{n^{2} - (\lambda - \omega)} d\nu_{t}(\omega) \right]$$

$$= \left[-\left(n^{2} - (\lambda - a^{0}(t))\right) + \left(\int_{I} \frac{1}{n^{2} - (\lambda - \omega)} d\nu_{t}(\omega)\right)^{-1} \right].$$

Recall the moments relation:

$$(4.49) \qquad \int_{I} \frac{1}{p+\omega} d\mu_{t}(\omega) = \left[\int_{I} (p+\omega) d\nu_{t}(\omega) - \left(\int_{I} \frac{1}{p+\omega} d\nu_{t}(\omega) \right)^{-1} \right]$$

where $d\mu_t$ is the parameterized measure defined in $I = [\alpha, \beta]$ associated with the Young's measure $d\nu_t$. Combining (4.48) and (4.49) yields

(4.50)
$$\frac{\mu_n(t)}{1 - \mu_n(t)} = \frac{-1}{n^2 - (\lambda - a^0(t))} \int_I \frac{1}{n^2 - (\lambda - \omega)} d\mu_t(\omega).$$

From (4.27) the resolvent kernel can be represented as

(4.51)
$$D \quad (\lambda, x, y, t) = \sum_{n=1}^{\infty} \left(\frac{-1}{n^2 - (\lambda - a^0(t))} \int_I \frac{1}{n^2 - (\lambda - \omega)} d\mu_t(\omega) \right) \phi_n(x) \phi_n(y)$$

Therefore the nonlocal kernel is

(4.52)
$$K(\lambda, x, y, t) = -\partial_y^2 D(\lambda, x, y, t) + (a^0(t) - \lambda) D(\lambda, x, y, t)$$
$$= \sum_{r=1}^{\infty} \left(\int_I \frac{-1}{n^2 - (\lambda - \omega)} d\mu_t(\omega) \right) \phi_n(x) \phi_n(y).$$

This completes the proof of Theorem 4.3.

REFERENCES

1. G. Allaire, *Homogenization and Applications to Material Science*, Lecture note at Newton Institute, Cambridge, 1999.

- 2. Y. Amirat, K. Hamdache and A. Ziani, Homogénéisation d'équations hyperboliques du premier ordre et application aux écoulements miscibles en milieu poreux, *Ann. Inst. Henri Poincaré, Analyse non linéaire*, **6**, (1989), 397-417.
- 3. Y. Amirat, K. Hamdache and A. Ziani, Kinetic formulation for a transport equation with memory, *Commun. in Partial Differential Equations*, **16**, (1991), 1287-1311.
- 4. Y. Amirat, K. Hamdache and A. Ziani, Some results on homogenization of convection diffusion equations, *Arch. Rational Mech. Anal.*, **114**, (1991), 155-178.
- 5. Y. Amirat, K. Hamdache and A. Ziani, On homogenization of ordinary differential equations and linear transport equations, *Calculus of Variations, Homogenization and Continuum Mechanics*, (G. Bouchitté, G. Buttazza and P. Suquet ed.) pp. 29-50, World Scientific, Singapore, 1994.
- 6. F. Bornemann, *Homogenization in time of Singularly Perturbed Mechanical Systems*, Lecture Note in Mathematics, 1687, Springer-Verlag, Berlin and New York, 1998.
- 7. N. Antonić, Memory effects in homogenization linear second-order equations, *Arch. Rational Mech. Anal.*, **125**, (1993), 1-24.
- 8. E. De Giorgi, Some remarks on Γ-convergence and least squares method, In Composite Media and Homogenization Theory, (ed. Dall Maso and Dell'Antonio), Birkhäuser, Boston, (135-142) 1991.
- 9. J.-S. Jiang and C.-K. Lin, Nonlocal effects induced by homogenization of a second order differential equation, In: *Proceedings of the IMC'94*, (Y. Fong, W.-J. Huang, Y.-J. Lee and N.-C. Wong ed.) pp. 131-148, World Scientific, Singapore, 1996.
- 10. J.-S. Jiang and C.-K. Lin, Homogenization of the Dirac-like system, *Mathematical Models and Methods in Applied Sciences*, 11 (2001), 433-458.
- 11. J.-S. Jiang, K.-H. Kuo and C.-K. Lin, Homogenization of second order equation with spatial dependent coefficient, *Discrete and Continuous Dynamical System*, **12**, No.2 (2005) 303-313.
- 12. J.-S. Jiang, K.-H. Kuo and C.-K. Lin, Homogenization and memory effect of a 3×3 systems, *Journal of Mathematics of Kyoto University*, (under revised) (2005).
- 13. D. L. Koch and J. F. Brady, A nonlocal description of advection-diffusion with application to dispersion in porous media, *J. Fluid Mech.*, **180**, (1987), 387-403.
- 14. D. L. Koch, R. G. Cox, H. Brenner and J. F. Brady, The effect of order on dispersion in porous media, J. Fluid Mech., 200, (173-188) 1989.
- 15. R. Kubo, M. Toda and N. Hashitsume, *Statistical Physics II, Nonequilibrium statistical mchanics*, Springer-Verlag, Berlin and New York, 1991
- 16. M. L. Mascarenhas, A linear homogenization problem with time dependent coefficient, *Trans. Amer. Math. Soc.*, **281**, (1984), 179-195.
- 17. M. L. Mascarenhas, Memory effect and Γ-convergence, *Proceedings of the Royal Society of Edinburgh*, **123A**, (1993), 311-322.

- A. Mikelić, Homogenization Theory and Applications to Filtration Through Porous Media, in *Filtration in Porous Media and Industrial Application*, (ed. M. S. Espedal, A. Fasano and A. Mikelić) pp. 127-214, Lecture Note in Mathematics 1734, Springer-Verlag, Berlin and New York, 1998.
- M. Renardy and W. J. Hrusa, Mathematical Problems in Viscoelasticity, Longman, New York, 1987.
- 20. E. Sanchez-Palencia, *Non-homogeneous media and vibration theory*, Lecture Note in Physics, Vol. 127, Springer-Verlag, Berlin and New York, 1980.
- 21. L. Tartar, Compensated compactness and applications to partial differential equations, In: *Research notes in mathematics, nonlinear analysis and mechanics*, (R. J. Knops ed.) pp. 136-211, Heriot-Watt Symposium, Vol. 4, Pitman Press, New York, 1979.
- 22. L. Tartar, Remark on homogenization, In: *Homogenization and effective moduli of materials and media*, (J. L. Ericksen et al. ed.) pp. 228-246, Springer-Verlag, Berlin and New York, 1986.
- 23. L. Tartar, Nonlocal effects induced by homogenization, In: *Partial Differential Equations and the Calculus of Variations* (Essays in Honor of E. De Giorgi) Vol. II, (F. Colombini et al. ed.) pp. 925-938, Birkhäuser, Boston, 1989.
- 24. L. Tartar, Memory effects and homogenization, *Arch. Rational Mech. Anal.*, 111, (1990), 121-133.
- 25. L. Tartar, H-measures, a new approach for studying homogenization, oscillations and concentration effects in partial differential equations, *Proceedings of the Royal Society of Edinburgh*, **115A**, (1990), 193-230.
- 26. L. Tartar, On mathematical tools for studying partial differential equations of continuum physica: H-measure and Young's measure, In: *Developments in Partial Differential Equations and Applications to Mathematical Physics*, (G. Buttazzo et al. ed.) pp. 201-217, Plenum Press, New York, 1992.
- 27. L. Tartar, Homogenization and Hyperbolicity, Ann. Scuola Norm. Sup. Pisa Cl. Sci., 25, (1997), 785-805.
- L. Tartar, An introduction to the homogenization method in optimal design, in Filtration in Porous Media and Industrial Application, (ed. A. Cellina and A. Ornelas)
 pp. 47-156, Lecture Note in Mathematics 1740, Springer-Verlag, Berlin and New York, 1998
- 29. V. V. Zhikov, Estimates for the averaged matrix and the averaged tensor, *Russian Math. Surveys*, **46**, (1991), 65-136.

Jiann-Sheng Jiang^{1,2}, Kung-Hwang Kuo¹ and Chi-Kun Lin¹

National Cheng Kung University,

Tainan 701, Taiwan.

and

²Department of Electronics Engineering and Computer Science,

Tung Fang Institute of Technology,

Kaohsiung 829, Taiwan.

¹Department of Mathematics,